5 peroroRs BODMAS

Name - Start time-_ _: End time-_ _:

Solve the following questions :

1. Which calculation has the smallest value ?

a) 60-20+ 10+5 [ N
b) 60-20+ 10+5
c) 60+20- 10+5
d) 60+20+ 10-5
e) 60+20+ 10-5 | )

2. Complete each calculation using a +, -, x, or + signs.
a) 9 (3x2)=3

b) 3 (8x1)=11

c) (4__ 5)+1=21

d 7 (6+4)=70

e) 27 (11-2)=3

3. Whatis42+3—-(1+4)?

4. Whatis28x38+72x387?

5. Whatis 6000 + (80 x 2.5) ?

6. Which of these expressions has the answer 7.5 ?

a) 14+2+3-1 4 N
b) 9-3+5+2

c) 3+2+3x2

d) (8-6)+2+5

e) 3x1 +12-9 \_ /)
\ 2 3 5 6 8 9

www.shreersctutors.com



	Slide 2

